i,

D. CHOI

Head Office
DONALD CHOI CANADA LTD.
147 Bathurst Drive
Waterloo, Ontario N2V 174
Customer Service: 1-866-332-2464
Customer Service Email : service@donaldchoi.com

ASSEMBLY INSTRUCTIONS

HAXBY SIDE CHAIR WITH CUSHION SEAT

ITEM NO: 0244632

* If any part(s) are missing (hardware only), please contact us at the address above.

Any missing major parts, Please contact your place of purchase.

PART LIST HARDWARE LIST

No Description Qty| [No Description Qty
1 | Box Frame With Seat 1Pc A | Allen Key M4 | IPc
> | Back Rest 1P B | Jebe Screw M6 x 80mm — esmmmm®| 4Pcs
3 | Front Leg (L& R) — C | Jebc Screw M6 x 60mm 4Pcs

‘ D | Jebe Screw M6 x 35mm 3Pcs

4 | Side Stretcher (L & R) 2Pcs E | Spring Washer 1/4" ® iipos
F | Flat Washer 1/4" © |11Pcs

G |[Wood Screw #8 x 32mm  ~<&=x§ | 4Pcs

4R

DONALD CHOI CANADA LTD.

147 Bathurst Drive

Waterloo, Ontario N2V 174

Customer Service: 1-866-332-2464

Customer Service Email : service@donaldchoi.com

MADE IN MALAYSIA
PAGE 1 OF 1




